In [195]:

In [196]:

In [197]:

# Ignore the warnings
import warnings
warnings.filterwarnings('ignore")

# Data manipulation and visualization
import seaborn as sns

# set grid
sns.set_style("whitegrid")

import pandas as pd

import numpy as np

import matplotlib.pyplot as plt

import matplotlib.font_manager as fm
%matplotlib inline

from matplotlib import font_manager, rc
from matplotlib.ticker import FuncFormatter

plt.rcParams[ ' font.family'] = 'Malgun Gothic'
plt.rc('axes', unicode_minus=False)
from matplotlib.ticker import ScalarFormatter

from haversine import haversine

import folium
import json

from scipy.spatial import Voronoi, voronoi_plot_2d

import geopandas

#!pip install descartes

import requests as rq

from bs4 import BeautifulSoup

df1 = pd.read_csv('./data/1. ZIICHESSEHCIEH
df2 = pd.read_csv('./data/2. ZII=_+=Al_& ]
df_in = pd.read_csv('./data/3. ZOHOI(H2IH=Z2|)al LK

df_out = pd.read_csv('./data/4. ZOHCI(HI2I0{Z2])AQESB2t=SS csv')

pop = pd.read_csv('./data/b6. FLUSSCIP2EHS = csv', encoding = 'cp949")

HBIIZTH = pd.read_csv('./data/6. SSHMNAEHSE(AZE FEY HYE) csv', encoding="ut
SEAHY = pd.read_csv('./data/7. SSHNATHSE(HMHREHE , HH) csv', encoding = 'U
A=Y = pd.read_csv('./data/8. M=_gzd MY YU S=Z0H2I4=.csv', encoding="utf
df9 = pd.read_csv('./data/9. HOH=EXAIE=Z= csv')

geo_df = geopandas.read_file('./data/10. =2 Al_S#HAHAAH (SHS).geojson')

code = pd.read_csv('./data/11. pos00006m.csv')

sb = pd.read_csv('./data/12. ZIIE_A2EEXI|IIAMUIAMESE csv', encoding='utf-8")

# HE=Z

2(SHsSE RELE . F-E).csv')
| 1

&Jl.csv', encoding = 'cp949')

def person(x, pos):
return f'{np.int64(x)}&"



In [198]:

fig, ax = plt.subplots(1,1, figsize =

data = df1.loc[(df1[' &HOURE "] I= "4

data = data.set_index('Al=22 ")[[' & &t

data.plot.bar(stacked = True, ax = ax)

ax.set_title('dI|I= AIEE ZOHe!l &', fontsize = 20, fontweight = 'bold")

ax.tick_params(labelsize = 13)

for ytick, color in zip(ax.get_xticklabels(), ['red', 'black']):
ytick.set_color(color)

formatter = FuncFormatter (person)

ax.yaxis.set_major_formatter(formatter)

ax.set(ylabel = None)

ax.set(xlabel = None)

ax.annotate('2019% HOHSSHM It H X & 0n1-32

xy = (6,380), fontsize = 15)

plt.xticks(rotation=0)

plt.legend(fontsize = 'x-large")

fig.tight_layout()
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In [199]: fig, ax = plt.subplots(5,3, figsize = (15, 20))

k=20

num_li = [0,1,1,0,1,3,1,2,0,0,0,1,0,2,0]

for n, typ in enumerate(dfi.loc[(df1[' OISR '] I= "AH"(AII['HMHRE'] 1= 2 ")
cnt = n% 3

data = df1.loc[df1[' ZO0HSRE '] == typ].groupby(' A2 ") ['S=H0HCIZ=(EH )" ].sum().to_f

sns.barplot(x = 'SS&0CI%=(EH)', vy = "AMZH"', data = data, color = 'lightgray', ax

ax[k, cnt].set_title(f'{typ} ZOHCl ="', fontsize = 20, fontweight = 'bold")

ax[k, cnt].tick_params(labelsize = 15)

ax[k, cnt].set_ylabel('AIS=", fontsize = 15, fontweight = 'bold")

ax[k, cnt].patches[num_li[n]].set_facecolor('darkred")

ax[k, cnt].patches[num_li[n]].set_edgecolor('black")

ax[k, cnt].set(ylabel = None)

formatter = FuncFormatter (person)

ax[k, cnt].xaxis.set_major_formatter(formatter)

for ytick in ax[k, cnt].get_yticklabels():

if ytick.get_text() == "= Al":
ytick.set_color('red")
if cnt ==
k += 1

#fig.suptitle('AIEE |&EY Z0Hel %'  fontsize = 25, fontweight = 'bold")
fig.tight_layout()
fig.subplots_adjust(top=0.94)
fig.savefig('../ATCE SEFYE =02l %=.png', dpi
fig.show()

300)
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In [200]: ZII=& A

ZIAEEA' =3 A2 S H(H) 1], copy()
AIEEH ‘

BINEEHA[ZINEEA[ VIEEE "] == 2021]



In [201]:

fig, ax = plt.subplots(1,1, figsize = (15, 8))

data = HIIZ& A .sort_values(by = 'S A (Z)", ascending=False)
sns.barplot(x = "&H(H)', y = "AIZ2&¥ ", data = data, color = 'lightgray', ax = ax)
ax.set_title('ZII= AlIZE S= ZH0HQl &=(&H)", fontsize=20, fontweight='bold")
ax.tick_params(labelsize = 13)
ax.set_xlabel ('S & HOQ! ="', fontsize=15, fontweight='bold")
ax.set_ylabel ('Al2Y "', fontsize=15, fontweight='bold")
for ytick, color in zip(ax.get_yticklabels(), ['red']):
ytick.set_color(color)
ax.set(ylabel = None)
formatter = FuncFormatter (person)
ax.xaxis.set_major_formatter(formatter)
ax.patches[0].set_facecolor('darkred")
ax.patches[0].set_edgecolor('black"')
fig.tight_layout()
fig.show()
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].str.replace(',","").copy()

0=

column_name
[column_name].astype('int32").copy()
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In [268]: def percent(x, pos):
return f'{np.int64(x)}%'
fig, ax = plt.subplots(1,1, figsize = (15, 8))

data = S8H&EY sort_values(by = 'EH(HIE)', ascending=False)
sns.barplot(x = 'SH(HIZ)', y = 'H0WMSE', data = data, color = 'lightgray', ax = ax)
ax.set_title(' 2&Y Z0HCl HIZ', fontsize=20, fontweight='bold")
ax.tick_params(labelsize = 20)
ax.set_xlabel ('S H (HI=)', fontsize=15, fontweight='bold")
ax.set_ylabel (' 20K & ", fontsize=15, fontweight='bold")
for ytick, color in zip(ax.get_yticklabels(), ['red', 'black','red", 'black', 'black', 'black','b
ytick.set_color(color)
for nin [0,2,11,13]:
ax.patches[n].set_facecolor('darkred"')
ax.patches[n].set_edgecolor('black')
formatter = FuncFormatter (percent)
ax.xaxis.set_major_formatter(formatter)
ax.set(ylabel = None)
ax.set(xlabel = None)
ax.annotate('S/8H : S/A0IH], QAMHLE=N, HES S 2 I HHOZ Qol0finEs, 21
xy=(20,4), fontsize=15)
ax.annotate(' &2 - 2F : HHEH, Hi=Jls Z0HZ2 2o HHHOILE BH =S <5t =S80 IfEO:
xy = (20,10), fontsize = 15)
ax.annotate('CI&S : & J|s2 LAIE OiH] SA0| 2HEH, Bt o2 YMG=E & 2EH', textc

xy=(20,12.5), fontsize=15)
plt.xticks(rotation=0)

fig.tight_layout()
fig.show()
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In [267]:

fig, ax = plt.subplots(1,1, figsize = (15, 8))

data = (dfi.loc[df1['AlZ2& '] .str.contains('%=&"')].groupby( HOHRE")['SSEI4=(EH)"]
data[ ' SSHOHQIZ=(EH)'] = data[ ' SSHOCI=(EHAH) '] = 100
sns.barplot(y = '"HUMKE', x = 'S=EH0MI4=(EH )", data = data.reset_index(), color = 'lig
ax.set_title('=2 Al SEY H0OQ! HI="', fontsize=20, fontweight='bold")
ax.tick_params(labelsize = 20)
ax.set_xlabel ('ZH(HIE)', fontsize=15, fontweight='bold")
ax.set_ylabel (' Z0lR& ", fontsize=15, fontweight='bold")
for ytick, color in zip(ax.get_yticklabels(), ['red', 'black','black', 'red", 'black', 'black', b
ytick.set_color(color)
for nin [0,3,11,13]:
ax.patches[n].set_facecolor('darkred")
ax.patches[n].set_edgecolor('black")
formatter = FuncFormatter (percent)
ax.xaxis.set_major_formatter(formatter)
ax.set(ylabel = None)
ax.set(xlabel = None)
ax.annotate('/¥€H . S A0, AAHLE=L, H/ES S Do JEH gHoz Q502 s, 2«
xy=(20,4), fontsize=15)
ax.annotate('&2 - F : HiE, HiRJls ZO0HZ CloH HiBI0oILt BH=E <o
xy = (20,10), fontsize = 15)
ax.annotate( &S T JIso LAIE OHHl SA0| A BISXHO=z 2Mel= S &8 textc

xy=(20,12.5), fontsize=15)
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fig.tight_layout()
fig.show()
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In [205]:

HAEY = HAHEY rename(columns=H&EE iloc[0])
AFY = AdY drop(HEE . index[0])
AH = AYGE [ AHE(2)'] == A
A2 drop(['HZHE(2)'], axis=1, inplace=True)
HHPYET = HAdY T
HAHYT = AHET rename(columns=HZET . iloc[0])
HSEYT = (ST . drop(HZFET. index[0])
H o= HAZET['ASBE(1)"'] == "A'
gy = AHYT[H]
HAHY drop(['AZL(1)'],axis=1,inplace=True)
HAygY = A=Y T.reset_index()
g = ~AHAHY [ index'].isnul ()
HygY = g4y [g]
for column_name in EEO“E”-
if column_name != 'index':

A& [column_name] = HEE[column_name].str.replace(',","").copy()
AP [column_name] = HEE [column_name].astype( ' float32').copy()
HygY = HAHY set_index('index")
HygdY = gy,
HEY = HAHEY drop(HEE . index[0])
HAHE[10MIOICH ] = ABE['04A"'] + HFE['5-9M"]
A0 '] = HHLE['10-14M "] + AHFLH['15-19A ']
HHYE['2000'] = HHLY['20-24KH "] + AHH['25-294| ']
HAHHE['3000'] = AHLY['30-34M "] + HHLH['35-39A ']
HAFYE['4000"'] = AHY['40-44H "] + HHLH['45-49A ']
HAHYE['5000'] = AHLY['50-54M"] + HHLY['55-59A ']
HAHHE['6000'] = AHL['60-64M"] + HHELH['65-69A ']
HAHYE['7000'] = AHL['70-74M "] + AFLH['75-79M ']
HHYE['800 '] = HHLY['80-84AM"'] + HAHH['85-89A ']
HAHH['QOAMOlA] = AHE]! 90—94H|‘] + oAgg[ 95 QPAI'] + HAZHE['100-104AH1 '] + HHE['10
E%"%‘[ ~114M1"] + HZE [ 115-119M1 '] + HZE['120-124A] ']
gy = AGE[[' A" 1OH|DIDF' “10CH", '20CH ", 30[H','4OEH‘ '50CH ", '60CH", '70CH ", "80CH ", "I
oy = HAEY copy()
for i in range(len(&@&)):
HAHLE[10MDI2H ][i] = AL [ 10M0I2H ][i] / AL AH"1[i]
oAgg o0 10i] = Aot 1[i] / gL EAH 0]
Addg 200" ][i] = AL ['2000 " 1[i] / ALE["&AH " "1[i]
AAHE['30CH " ][i] = AFL['3000"1[i] / AHE["&H " "1[i]
AAH['40CH "] [i] = AFLE['4000 "' 1[i] / AHE["SAH"1[i]
ALY ['50CH " ][i] = AZLE['5000 " 1[i] / AHE["&H T[]
oAgg'e00 " 1[i] = AL ['600H I[i] / AGL["&AH T[]
oAgg 7oty '10i] = AL 70t 1[i] / AL EAH (0]
oAgg'go ' 1[i] = AL '80th [i] / AL AH T[]
HAHYE['QOMIOIA][i] = AZFLH['QOAMOIA"][i] / AL &AH"][i]
HAGY drop(['&H '],axis=1,inplace=True)
o2 drop(['& A '],axis=1,inplace=True)



In [206]:

oY = A Joc[['AIA", "el¥H"AH 'S
fig, ax = plt.subplots(1,1, figsize = (15,
ax = sns.heatmap(® &, annot=True, #

o1, 1]
)

< 1o

fmt = ".0f", vmin = 0.0,vmax=350000, cmap = 'Reds',linewidths = 0.1,

linecolor = 'black', annot_kws={"size": 16}, cbar=False)

ax.set_title('—"', fontsize=10, fontweight="'bold")
ax.set_xlabel (' &', fontsize=20, fontweight='bold")
ax.set_ylabel (' 20K & ", fontsize=20, fontweight='bold")

for ytick, color in zip(ax.get_yticklabels(), ['red', 'red', 'red', 'red']):
ytick.set_color(color)
ytick.set_fontsize(20)

for xtick, color in zip(ax.get_xticklabels(), ['black', 'black', 'black', 'black', 'black', 'red",
xtick.set_color(color)
xtick.set_fontsize(20)
plt.yticks(rotation=0)
ax.set(ylabel = None, xlabel = None)
for t in ax.texts:
t.set_text('{:,d}'.format(int(t.get_text())))
fig.tight_layout()
fig.show()
x| 5| 805 3,108 12,091 37,315 CAOCEEIN 240010 331,495 291,977 16,647
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AIE 101 253 461 299 375 708 1,220 1,254 523 39
[=2=W| 16 44 8 150 459 1,540 3,993 3,980 1214 66
10A4|0]3F  10CH 20CH 30CH 40CH s0Ch 60CH 70Cy 80CH  90AM|O|4



In [207]:

In [208]:

In [209]:

In [210]:

In [211]:

In [212]:

Out[215]:

o ENo(B™ES 7IE)

df2['sS'] = df2[' AKX K EHZ=A"] .map(lambda x: x.split(' '")[-2])
code['ctgg_nm'] = code[ 'ctgg_nm'].map(lambda x: str(x).split(" ')[0])

cd_dic = {}

for i in code.locl[code[ 'ctgg_nm'] == "Z=&Al"'][ adstrd_nm'].unique():
cd = code. loc[code[ 'adstrd_nm'] == i, 'lgdng_nm'].values[0]
cd_diclecd] = i

cd dic['@sds'] = 'Hs'

cd dic['Es'] = "'MES'

cd_dic[ £€&ES'] = '#HZS'

cd_dic[ 'OHAtZ2DH'] = 'DHAtS!

cd_dic[ DHEgs'] = '#2S'

cd_dic['AE2S'] = '#H2S'

cd_dic[ 54+5'] = '#H2ZS'

hang_dic = {'SKESLISX2"'HIHMS', 'FIEosd +JY' | 'Fles','Ad1sF2HE

'QOFESIAISIEX 2 ¢ 'ROHES! | 'QIMSF0IMH "' ROHE!, 'SAISFLIHEH" ¢ 'gAIS!

'HAEZZY D 'HE2s', 'EsSFE'  'HEt3S','MHEHSFOIHE": 'IHEHNS'"}

df2 = df2.replace({'=S"' : cd_dic})

hang_dic = {'SKASL0oI=SX2"'HIHS', 'FIEosd £JYY' | 'FX2s','AH1sSFUHE

'QOFESIASIE X2 ¢ 'ROHE! 'QIMSF0IMEH" RS, 'SAISFOIHEH" ¢ 'gAIS!

'HEZZY D 'IE2s', 'EsSFE'  'HEt3S','MHEHSF0IHE": 'IHEHS'"}

df2 = df2.replace({'=S"' : cd_dic})

df2. loc[(df2[ Al '] == 'SKEEL=X2") | (df2[ Al '] == 'ZIEd=d +=2AHA")| (dfZ
»

wheel = df2[['AIZY ' 'AISH ", 'AIZ22Y 'S, 'HZ 'SAAEIIsUHSE",'S']]

data = dfi1.loc[(df1['AIZ& '] == "&JA&(AfI['HHKE"'] == "XHM")].groupby(' SH=H")[I

with open('./data/10. =& AI_#HHBH(SHE).geojson', encoding = 'utf-8') as file:

geo = json.loads(file.read())
file.close()

center = [37.2805727, 127.0286009]
m = folium.Map(location = center, titles = 'Maps', zoom_start = 12)
folium.Choropleth(

geo_data = geo,

data = data, columns = [ SHESY' 'S2Z0HIZ=(EH)'],

fill_color = 'BuPu',
legend_name = 'Z=2 Al XM ZO0HQ! 2=").add_to(m)

m

Make this Notebook Trusted to load map: File -> Trust Notebook
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In [216]:

Out[216]:

In [217]:

Out[217]:

data = pd.DataFrame(columns = ['SHESH ' 'SSZ0HCIZ=(EH)'])

with open('./data/10. =SAI_#HBH(SHE).geojson', encoding = 'utf-8') as file:
geo = json.loads(file.read())
file.close()

—

center = [37.2805727, 127.0286009]

m = folium.Map(location = center, titles = 'Maps', zoom_start = 12, color = 'grey')
folium.GeoJson(geo, name='json_data').add_to(m)

for i in range(wheel.shape[0]):

folium.CircleMarker (
[wheel ['IE="].iloc[i], wheel['Z="].iloclill,

radius = 5,

color = 'red’,

fill_color = 'red'
).add_to(m)

Make this Notebook Trusted to load map: File -> Trust Notebook

data = df1.loc[(df1['AIZ2E '] == "&=2Al")&(df1 [‘“OHOE'] == '"XIA")].groupby(' EHSE ") [I
with open('./data/10. =3 Al_#EFAAH(SHS).geojson', encoding = 'utf-8') as file:

geo = json.loads(file.read())

file.close()

center = [37.2805727, 127.0286009]
m = folium.Map(location = center, titles = 'Maps', zoom_start = 12)

#folium.GeoJson(geo, name='json_data').add_to(m)
folium.Choropleth(
geo_data = geo,
data = data, columns = ['SHESY' 'SESA0IL(EAH)'],
key_on = 'feature.properties.ADM_DR_NM',
fill_color = 'BuPu',
legend_name = 'Z=2 Al XAl ZO0HC! 2=').add_to(m)
for i in range(wheel.shape[0]):
folium.CircleMarker (

[wheel ['?I="].iloc[i], wheel['Z="].iloc[il],
radius = 5,
color = 'red',
fill_color = 'red’
).add_to(m)

m

Make this Notebook Trusted to load map: File -> Trust Notebook
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In [218]:

In [219]:

In [248]:

per_fac = (dfi1.loc[(df1['AIZEH "] == "=A")&f1I['ZMHEE"'] == "XIA")].groupby(' SH=H
per_fac.columns = ['EH&ES', 'JIJLE0fOI4"]

per_fac_drop = per_fac.dropna()

~

fig, ax = plt.subplots(1, 1, figsize = (15, 8))
g = sns.barplot(x = "I &0fCI%", y = "HAS", data = per_fac_drop.sort_values(by = 'J[°
g.set_title('&HE=E JI=MMESEER == =MD & XA ZOHC!l 2=, fontsize = 20, fontweighi
formatter = FuncFormatter (person)
g.xaxis.set_major_formatter(formatter)
g.tick_params(labelsize = 15)
g.set_xlabel ('J1J21& &OHCI %', fontsize = 15, fontweight = 'bold")
g.set_ylabel ('#HES"', fontsize = 15, fontweight = 'bold")
ax.axvline(x=per_fac_drop[' 2| D& 02l %"].mean(), color="r", linewidth=1)
ax.annotate(' = : 1652 ', textcoords = 'offset points',
xy = (120,22), fontsize = 15)
ax.set(ylabel = None, xlabel = None)
formatter = FuncFormatter (person)
ax.xaxis.set_major_formatter(formatter)
ax.patches[1].set_facecolor('darkred")
ax.patches[1].set_edgecolor('black")
for ytick in ax.get_yticklabels():
if (ytick.get_text() == 'SOHAS"):
ytick.set_color('red")

ha

fig.show()
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In [249]: fig, ax = plt.subplots(1, 1, figsize = (15, 8))
g = sns.barplot(x = "D &0fOI%", y = "HAS", data = per_fac_drop.sort_values(by = 'J[°
g.set_title('&=&Al XX &0l 2i', fontsize = 20, fontweight = 'bold")
formatter = FuncFormatter (person)
g.xaxis.set_major_formatter(formatter)
g.tick_params(labelsize = 15)
g.set_xlabel ('J1J1E &0l £=', fontsize = 15, fontweight = 'bold")
g.set_ylabel ('$#E ="', fontsize = 15, fontweight = 'bold")
ax.axvline(x=per_fac_drop[' 2| D& 02l %="].mean(), color="'r", linewidth=1)
ax.annotate(' = : 1652 ', textcoords = 'offset points',
xy = (120,22), fontsize = 15)
ax.set(ylabel = None, xlabel = None)
formatter = FuncFormatter (person)
ax.xaxis.set_major_formatter(formatter)
ax.patches[1].set_facecolor('darkred")
ax.patches[1].set_edgecolor('black")
ax.patches[20].set_facecolor('darkred")
ax.patches[20] .set_edgecolor('black")
ax.patches[23].set_facecolor('darkred")
ax.patches[23].set_edgecolor('black')
for ytick in ax.get_yticklabels():
if (ytick.get_text() == 'SOHAS") or '¥E" in ytick.get_text():
ytick.set_color('red")
fig.show()
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In [222]:

fig, ax = plt.subplots(1, 1, figsize = (15, 8)
g = sns.barplot(x = "D &0fOI%", y = "HAS", data = per_fac_drop.sort_values(by = 'J[°
g.set_title('&HEE JI=MMESEER 3= =MD & XA ZO0HC!l 2=, fontsize = 20, fontweighi
formatter = FuncFormatter (person)
g.xaxis.set_major_formatter(formatter)
g.tick_params(labelsize = 15)
g.set_xlabel ('J1J1E &0l £=', fontsize = 15, fontweight = 'bold")
g.set_ylabel ('&#&ES", fontsize = 15, fontweight = 'bold")
ax.axvline(x=per_fac_drop[ ' I DI EZ&0HCI=="] .mean(), color="r", linewidth=1)
ax.annotate(' @ : 165% "', textcoords = 'offset points',
xy = (110,22), fontsize = 15)
for ytick in ax.get_yticklabels():
if ytick.get_text() == 'SHAS":

ytick.set_color('red")

fig.show()
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In [223]:

geo_data = dftl.loc[(df1['AlZE "] == "= A ")&AfI[' ZOHKRE "] == "XIH")].groupby( EHSH
geo_mg = pd.merge(geo_df,geo_data, how = 'left', left_on = '"ADM_DR_NM', right_on = 'SHSH'

fig, ax = plt.subplots(1,1, figsize = (15, 8))

vor = Voronoi(wheel [['ZZ"','RIZ"]])

voronoi_plot_2d(vor, ax = ax, line_colors = 'orange', show_vertices=False, line_width=2, poil
ax.scatter(x = wheel['Z<"'], y = wheel['RI&"'], ¢ = 'r")

geo_mg.plot(ax = ax, edgecolor='grey', color = 'grey')

plt.xlim(126.925, 127.09)

plt.ylim(37.22, 37.35)

fig.show()
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from folium.features import Divlcon

In [224]:



In [225]:

data = dfti.loc[(df1I['AIZ&E '] == "Z=& Al ")&(df1 PIWHOE']=='IWW)Lgmme'%Eiég'H[
with open('./data/10. =3 Al_#EFAAH(SHS).geojson', encoding = 'utf-8') as file:

geo = json.loads(file.read())

file.close()

yt_wheel = wheel.loc[wheel['S'].str.contains('&S")]
center = yt_wheel [[ ' RIZ', "X "]].mean().to_list()

m = folium.Map(location = center, titles = 'Maps', zoom_start = 14)
#folium.GeoJson(geo, name='json_data').add_to(m)

folium.Choropleth(
geo_data = geo,
data = data, columns = [ SHSY' 'SSZ0HIZ=(H)'],
key_on = 'feature.properties.ADM_DR_NM',
flll_color = 'BuPu’',
legend_name = 'Z=2 Al XAl ZO0HC! ==').add_to(m)

for i in range(yt_wheel.shape[0]):
folium.CircleMarker (
[yt_wheel['?I="].iloc[i], yt_wheel['Z="].iloc[i]],

radius = 5,

color = 'red’,

fill_color = 'red'
).add_to(m)

val = (yt_wheel[['RIZ",'ZAZ"]].iloc[0].values + yt_wheel[['RI=",'Z="]].iloc[1].values) /

folium.map.Marker (
(val[0],val[1]), icon=Divlcon(
icon_size=(150,36),
icon_anchor=(0,0),
html="<div style="font-weight: bold; font-size: 12pt">1.15 km</div>'
)
).add_to(m)
val = (yt_wheel[['RIE",'ZZ"]].iloc[0].values + yt_wheel[['RIE"','ZZ"]].iloc[?].values) /
folium.map.Marker (
(val[0], val[1]), icon=Divlcon(
icon_size=(150,36),
icon_anchor=(0,0),
html="'<div style="font-weight: bold; font-size: 12pt">0.97 km</div>",
)
).add_to(m)

val = (yt_wheel[['RIE",'ZZ"]].iloc[1].values + yt_wheel[['RI=",'Z="]].iloc[?].values) /
folium.map.Marker (
(val[0], val[1]),icon=DivlIcon(
icon_size=(150,36),
icon_anchor=(0,0),
html="<div style="font-weight: bold; font-size: 12pt">1.39 km</div>",
)
).add_to(m)

> >

folium.PolyLine([yt_wheel[['RI=",'Z%"]].iloc[0].values, yt_wheel[['RI=", ' ZZ"]].iloc[1].\
folium.PolyLine([yt_wheel [['RIE", ' ZS<"]].iloc[0].values, yt_wheel[['?I=", ' ZSZ"]].iloc[2] .\
folium.PolyLine([yt_wheel [['RIE", " Z%="]].iloc[1].values, yt_wheel[['RIE", ' ZEZ"]].iloc[2] .\

m



Out[225]:

In [226]:

Out[226] :

In [227]:

In [228]:

Out[228]:

Make this Notebook Trusted to load map: File -> Trust Notebook

data = df1.loc[(dfI[' A& '] == "£=2AA")&AfI[' MRS "] == "XIAH")].groupby( SHESH")[]
ind = data['é.’ﬂ.j%%ﬁ'].str.contalns(‘%‘%I%m1%léDH/\'IHI |O|74| )
data = data.loc[ind]
with open('./data/10. =RAl_#HEAH(SHS).geojson', encoding = 'utf-8') as file:
geo = json.loads(f||e.read )
file.close()

—
~

center = [37.2805727, 127.0286009]
m = folium.Map(location = center, titles = 'Maps', zoom_start = 11.5)

folium.Choropleth(
geo_data = geo,
data = data, columns = ['SHSY' 'SSEOMI==(EH)'],
key_on = 'feature.properties.ADM_DR_NM',
fill_color = 'BuPu',
legend_name = 'Z=2 Al XAl ZO0HC! 2=').add_to(m)

for i in range(wheel.loc[wheel['S'].str.contains('E€E|Z 1= |S0HA |HMZF[21H")].shapel[0])
folium.CircleMarker (

[wheel.loc[wheel['S'].str.contains(' EE|ZWIS|SHA|HMFICIAH)IT'ISZ" ] ilocli],

radius = 4,

color = 'red',

fill_color = 'red'
).add_to(m)

Make this Notebook Trusted to load map: File -> Trust Notebook

THA QI X
pop_sw = pop. loc[(pop[ ' & E='] == 2021)&(pop[ '& '] == 7)&(pop[ 'SHE P2 "] str.contains(' &7
pop_sw[ ' A ="] = pop_sw [‘§§%§%99594'].map(lambda x: x.strip().split(" ")[-1])

with open('./data/10. =SIAl_#EAH(SHZ).geojson', encoding = 'utf-8') as file:
geo = json.loads(file.read())
file.close()

—

center = [37.2805727, 127.0286009]
m = folium.Map(location = center, titles = 'Maps', zoom_start = 12)

folium.Choropleth(
geo_data = geo,
data = pop_sw, columns = ['#HAES",
key_on = 'feature.properties.ADM_DR_
fill_color = 'BuPu',
legend_name = '#=2 Al XM ZO0HQ! 2=").add_to(m)

EXER]
I

= o

m

Make this Notebook Trusted to load map: File -> Trust Notebook



In [229]: with open('./data/10. =& Al_#EZAAH(SHS).geojson', encoding = 'utf-8') as file:
geo = json. loads(file.read())
file.close()

center = [37.2805727, 127.0286009]
m = folium.Map(location = center, titles = 'Maps', zoom_start = 12)

folium.Choropleth(
geo_data = geo,
data = pop_sw, columns = ['#HS', 'S 274"],
key_on = 'feature.properties.ADM_DR_NM',
fill_color = 'BuPu',
legend_name = 'Z=& Al XM ZO0HCl 2#=").add_to(m)

for i in range(wheel.shape[0]):
folium.CircleMarker (
[wheel['I="].iloc[i], wheel['Z="].ilocli]],

radius = 5,

color = 'red',

fill_color = 'red'
).add_to(m)

0ut[229]:  Make this Notebook Trusted to load map: File -> Trust Notebook

Ay 28 B2

In [230]: df_in['SIGNGU_NM'] = df_in['SIGNGU_NM'].map(lambda x: str(x).split(' ')[0])



In [231]:

def count(x, pos):
return f'{np.int64(x)}H"

fig, ax = plt.subplots(2,2, figsize = (15, 8))
=0
for n, typ in enumerate(df_in[ 'MLSFC_NM'].unique()):
cnt =n% 2

data = df_in.loc[((df_in['CTPRUN_NM'] == "Z2J|")| (df_in['CTPRUN_NM'] == "ZI|&"))&(df_ir
sns.barplot(x = '"ESNTL_ID', y = 'SIGNGU_NM', data = data, ax = ax[k, cnt], color
fontsize = 20, fontweight = 'bold")

ax[k, cnt].set_title(f'{typ} Al& =",
ax[k, cnt].tick_params(labelsize = 15)
ax[k, cnt].set_xlabel("Al&==",

ax[k, cnt].set_ylabel ('Al=",
ax[k, cnt].set(ylabel = None)
formatter = FuncFormatter (count)

fontsize = 15,

fontsize = 15, fontweight = 'bold")

fontweight = 'bold")

ax[k, cnt].xaxis.set_major_formatter(formatter)

for ytick in ax[k, cnt].get_yticklabels():

if ytick.get_text() == "= Al":
ytick.set_color('red")

ax[0,1].set_xticks([0,1,2,3,4])
ax[1,0].set_xticks([0,1])

fig.tight_layout()

if cnt == 1:
kK += 1

ax[0, 0] .patches[1].set_facecolor('darkred")
ax[0, 0].patches[1].set_edgecolor('black")
ax[0, 1].patches[1].set_facecolor('darkred")
ax[0, 1].patches[1].set_edgecolor('black")
ax[1, 0].patches[1].set_facecolor('darkred")
ax[1, 0].patches[1].set_edgecolor('black"')
ax[1, 1].patches[1].set_facecolor('darkred")
ax[1, 1].patches[1].set_edgecolor('black")

(
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fig.show()
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In [232]:

In [233]:

In [234]:

df_

def

fig,

for

ax [
ax|
ax|[
fig
fig

out['SIGNGU_NM'] = df_out[ 'SIGNGU_NM'].map(lambda x: str(x).split("' ")[0])

count (x, pos):
return f'{np.int64(x)}H"
ax = plt.subplots(1,2, figsize = (15, 8))

n, typ in enumerate(df_out[ 'MLSFC_NM'].unique()):
data = df_out.loc[((df_out['CTPRVN_NM'] == "ZI|")|(df_out[ 'CTPRUN_.NM'] == "HI[Z"))&(d1
sns.barplot(x = '"ESNTL_ID', y = 'SIGNGU_NM', data = data, color = 'lightgray', ax = ax[n]
ax[n].set_title(f'{typ} AI& ="', fontsize = 20, fontweight = 'bold")
ax[n].tick_params(labelsize = 15)

ax[n].set_xlabel ('Al& =", fontsize = 15, fontweight = 'bold")

ax[n].set_ylabel ('AIE=", fontsize = 15, fontweight = 'bold")

ax[n].set(ylabel = None)

formatter = FuncFormatter (count)

ax[n].xaxis.set_major_formatter(formatter)

for ytick in ax[n].get_yticklabels():

if ytick.get_text() == "#=&Al":
ytick.set_color('red")

0] .patches[1].set_facecolor('darkred")
0] .patches[1].set_edgecolor('black")
1].set_xticks([0,1])

.tight_layout()
.show()
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sb_df = sb.loc[sb['Al2Z "].str.contains(' = AI")J[['JI2H " "WGS84RI &', '"WGS84A & ']]
sb_df['RE'] = 'BXI|J| MHIAHH'



In [235]:

Out [235]:

data = dfi.loc[(df 1['AlZE '] == "2=A")&(dfI[' ZOHSE '] == "XIH")].groupby(' SHSH ") [
ind = datal ' S2SY"'].str.contains(' LIS |HFRIS|HF2S | 2SS |HMH2S | DS S| 0HEN
data = data.loc[-ind]
with open('./data/10. =SAl_#HEAH(SHS).geojson', encoding = 'utf-8') as file:
geo = json.loads(file.read())
file.close()

—
~

center = [37.2805727, 127.0286009]
m = folium.Map(location = center, titles = 'Maps', zoom_start = 12)

folium.Choropleth(
geo_data = geo,
data = data, columns = [ SHSY' 'SSZ0HIZ=(EH)'],
key_on = 'feature.properties.ADM_DR_NM',
fill_color = 'BuPu',
legend_name = 'Z=2 Al XAl ZO0HC! ==').add_to(m)

for i in range(sb_df.shape[0]):

folium.CircleMarker (
[sb_df['WGS84<I = "].ilocli],
sb_df [ 'WGS84Z = "].ilocli]],
radius = 4,
color = 'blue',
fill_color = 'blue'

).add_to(m)

for i in range(wheel.shape[0]):
folium.CircleMarker (

[wheel ['?I="'].iloc[i], wheel['Z="].iloc[il]],
radius = 4,
color = 'red',
fill_color = 'red'
).add_to(m)

3
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In [236]:

In [237]:

sw_in = df_in.loc[df_in[ 'SIGNGU_NM'] == "Z%=&Al"]

sw_out = df_out.loc[df_out['SIGNGU_NM'] == "Z=&Al"]

sw_cul = pd.concat([sw_in, sw_out])

sw_cul = sw_cul.loc[sw_cul ['FCLTY_NM'] 1= '"[BHEDIAH](A)HR="]
min_name_li = []

min_km_li = []

max_name_li = []

max_km_li = []

for k in sw_cul["FCLTY_NM'].unique():
#pr”‘]t(f :_::{k}:::: )

a = sw_cul.loc[sw_cul ['"FCLTY_NM'] == K][['FCLTY_LA", 'FCLTY_LO"]].iloc[0]
dis_min = 10000
dis_max = 0
fac_min = "'
fac_max = "'
for n, name in enumerate(wheel ['AlZ2 "] unique()):
#orint (f'{name}")
dis = haversine(a, wheel.loc[wheel [ A2 '] == name][['?

#orint(f'{dis}KM")

if dis_min >= dis:
dis_min = dis
fac_min = name

if dis_max <= dis:
dis_max = dis
fac_max = name

min_name_|i.append(fac_min)
min_km_|i.append(dis_min)
max_name_| i .append(fac_max)
max_km_| i .append(dis_max)

cul_df =

pd.DataFrame({'Al&&"

E| *%% T

:sw_cul ['FCLTY_NM'

: max_name_l i,

].un
RS

nique(),
Hel(k

) I

S

1", " E% " ]].iloc[0],

|CH=R A

: max_km_li})

> min_name_l1i,

<

unit :

a



In [238]:

[239]:

def count(x, pos):
return f'{np.int64(x)}H"
data = cul_df .groupby ([ 'ZSHSEA])[['AIZ S "]].count().reset_index().sort_values(by = 'Al&
fig, ax = plt.subplots(1, 1, figsize = (15, 12))
g = sns.barplot(x = "A&%"', y= "ZSHS&A", data = data, color = 'lightgray')
g.set_title('MSEHT 35 =8A & HENIIE 212 23 A& &', fontsize = 20, fontweigt
formatter = FuncFormatter (count)
g.xaxis.set_major_formatter(formatter)
g.tick_params(labelsize = 15)
g.set_xlabel ('S8 A & 23 A& ="', fontsize = 15, fontweight = 'bold")
g.set_ylabel ('&#&S", fontsize = 15, fontweight = 'bold")
ax.axvline(x=data[ 'Al& 2 "] .mean(), color="r", linewidth=1)
ax.annotate(' &< : 2.8J"', textcoords = 'offset points',
xy = (3,27), fontsize = 18)
ax.patches[0].set_facecolor('darkred")
ax.patches[0].set_edgecolor('black")
ax.set(ylabel = None)
for ytick in g.get_yticklabels():
if ytick.get_text() == "= AI&":
ytick.set_color('red")
fig.show()
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xy_df = pd.merge(cul_df, sw_cul[['FCLTY_NM', "FCLTY_LA", 'FCLTY_LO"]].drop_duplicates(), how =
xy = pd.merge(xy_df, wheel[['AI&H" 'I=","HZ"]], how = "left', left_on = 'FHEHA" 71
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In [240]:

Out [240]:

In [241]:

data = dfi.loc[(df 1['AlZE '] == "2=A")&(dfI[' ZOHSE '] == "XIH")].groupby(' SHSH ") [
with open('./data/10. =3 Al_#EAFAAH(SHS).geojson', encoding = 'utf-8') as file:

geo = json. loads(file.read())

file.close()

#center = [37.2805727, 127.0286009]
center = [37.263453000000005, 127.02866399999999]

m = folium.Map(location = center, titles = 'Maps', zoom_start = 15)

folium.Choropleth(
geo_data = geo,
data = data, columns = [ SHSY"',
key_on = 'feature.properties.ADM_DR
fill_color = 'BuPu',
legend_name = 'Z=2 Al XAl ZO0HC! ==').add_to(m)

=
=

for i in range(wheel.loc[wheel['AI&ZH "] 1= "= AI& "] .shape[0]):
folium.CircleMarker (
[wheel . loc[wheel ['AI& "] 1= "=AIF"]['?IZ"].ilocl[i], wheel.loc[wheel [ Al&H"]
radius = 5,
color = 'red',
fill_color = 'red'
).add_to(m)
folium.CircleMarker (
[wheel.loc[wheel ['AIZ&ZH "] == "S=2AE"T['2I="].iloc[0], wheel.loc[wheel [ A& H"] -
radius = 15,

color = 'orange',
fill_color = 'orange'
).add_to(m)

for i in range(sw_cul.shape[0]):
folium.CircleMarker (
[sw_cul ['"FCLTY_LA"].ilocli], sw_cul['FCLTY_LO'].iloc[il],
radius = 5,
color = 'blue',
fill_color = 'blue'

).add_to(m)
for i in range(xy.shape[0]):
folium.PolyLine([xy[['FCLTY_LA", '"FCLTY_LO']].ilocli].values, xy[['®I<"',"AZ"]].ilocli].\

m

Make this Notebook Trusted to load map: File -> Trust Notebook
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col = df9.iloc[0,:7].values
df9 = df9.iloc[2:,:7]
df9.columns = col



In [242]:

In [243]:

In [244]:

In [245]:

In [246]:

latitude = []

longitude = []

error = []

for i,ad in enumerate(df9['= A']):

url = f'http://api.vwor Id.kr/req/address?service=address&request=getcoord&version=2.0&crs:

req = rqg.get(url)

html = req. text
soup = BeautifulSoup(html, 'html.parser"')
try:

latitude.append(soup.result.point.y.text)

longitude.append(soup.result.point.x.text)
except:

error.append(i)

latitude.insert(6, '37.30133446087698")
longitude.insert(6, '126.9798916556318")
latitude.insert(28, '37.28760089827169")
longitude.insert(28, '126.98932032679632")
latitude.insert (42, '37.2657993477275")
longitude.insert (42, '127.0643350844663")

df9['latitude'] = latitude
df9['longitude'] = longitude

min_name_li = []
min_km_li = []
max_name_li = []
max_km_li = []

for k in df9['Al&2 "] . unique():
#orint (f'===={k}====")
a = df9.loc[df9['Al&D '] == K][['latitude', " 'longitude']].iloc[0]
a = np.float64(a)
dis_min = 10000
dis_max = 0
fac_min = "'
fac_max =
for n, name in enumerate(wheel['AIZZ "] . unique()):
#print(f'{name}")

dis = haversine(a, wheel.loc[wheel ['AIEZH"'] == name] [[ ' RIZ" S'11.iloc[0], unit :
#orint(f'{dis}KM")
if dis_min >= dis:
dis_min = dis
fac_min = name
if dis_max <= dis:
dis_max = dis
fac_max = name
min_name_|i.append(fac_min)
min_km_| i .append(dis_min)
max_name_| i .append(fac_max)
max_km_| i .append(dis_max)
wel_df = pd.DataFrame({'AI&ZH"' : df9['AI&H"]. unlque() 'ZISEAAY  min_name_li, "Z S
' *%% AT max_name_li, "ZZ&EAH2I(km)' : max_km_li})



In [247]:

data = wel_df.groupby(['E =& A1) [['AIZ 2 "]].count().reset_index().sort_values(by =

fig, ax = plt.subplots(1, 1, figsize = (15, 12))

g = sns.barplot(x = "A[&Y"', y= "ZHS&A", data = data, color = 'lightgray')
g.set_title(' MsSEHET 25 =84 8 HEWIIE 212 =X A& %', fontsize = 20, fontweigt

formatter = FuncFormatter (count)
g.xaxis.set_major_formatter(formatter)

g.tick_params(labelsize =

15)

g.set_xlabel ('E8A & =X AlE %', fontsize = 15, fontweight = 'bold")
g.set_ylabel ('&E& A", fontsize = 15, fontweight = 'bold")
ax.axvline(x=datal[ 'Al& 2 "] .mean(), color="r", linewidth=1)
ax.annotate(' = : 2.15JH"', textcoords = 'offset points',

ax
ax
ax

xy = (2.2,15), fontsize = 18)
.patches[0] .set_facecolor('darkred")
.patches[0].set_edgecolor('black")
.set(ylabel = None)

for ytick in g.get_yticklabels():

if 'SOHA" in ytick.get_text() :
ytick.set_color('red")

fig.show()
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